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O[X| 0] ~&0| OtFHLH= N2 2 AO|Ct.
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Implementation Details

int[] beechtree(int N, int M, int[] P, int[] C)

o N:E2[o HH =,
o M:7ts%t Mol Tl
e P C:2
o O] B4 37| Nol b
Ot 2 00|ofof Btk
o ZEHAE
Examples

Example 1

CtE =&2 Exh

beechtree(4, 2,

(1), T(2),
maty, ol e

E bE 2IEsoF Btot 2t (0 < 7 < N)Oil ChHel, blr|2,

A o[ 201 M o] etr= Fets| o S EEIC.

['11 0/ 0! 0]! [01 1! 1! 2])

2|3l Of otCf.

T(r)7t OFECIR B2 1,

T(3)e] 3742 MEE2|= 2t2t 1740 HES JHX| D2 O2LHR HES0|Ch T(0)2 OF2EHX| QLt.
0,1,1,1]2

LS

beechtree (4 of 6)



Example 2
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beechtree(18, 3,

[-1, , , 0, 1, 1, 1, 2, 2, 3, 3, 3, 4, 4, 5, 10, 11, 11],
e, 1, 2, 3,1, 2, 3,1, 3,3, 2, 1,1, 2, 2,1, 2, 3])

siFot= Egl= 222 o2k 2Tt
olz=210,1,1,0,1,1,1,1,1,1,1,1,1,1,1,1,1, 1] 2|EsHof FtCt.

Example 3
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beechtree(7, 2, [-1, ©, 1, 1, 0, 4, 5], [0, 1, 1, 2, 2, 1, 1])

siEsts E2|= ot &1t Z Lt
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Constraints

3 <N <200000

2 < M <200000
0<P[i]<i(l<i<N)
1<Cl]<M(@1<i<N)
P[0] = —10|2C[0] = 0
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Subtasks

1. (9 points) N
2. (5 points) ZtM ¢
3. (9 points) ™
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4. (8 points) Ztc(1 <c < M)Oﬂ CHaH, 240 @
5. (14 points) N < 200022 M < 500

6. (14 points) N < 20000|2 M =2

7. (12 points) N < 2000

8. (17 points) M = 2

9. (12 points) F=7tQl xisto| 8l S.

Sample Grader

Sample graderz Y& S ot2lie] YAl o= gh=C,

e linel: N M
e line2: P[0] P[1] ... P[N —1]
e line3:C[0] C[1] ... C|N —1]
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